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= Off Ak A () M4 E Y
5 " 2742,000 OEI§|H|- 278H x 1,000@ x 12€ x 0.75 = 2,502,000 (L
75% M), A 609 x 1,000@ x 42 = 240,000
XH= 4,000,000/ =4H2t0] 2YH| 1,500,000, ZxA S, Z=A 2,500,000
JEE - |-
EY 6,742,000
2.4 =
5 Off Ak H(H) MELU Y
ZAH| 1,000,000 | 23 500,000x27&=1,000,000
S ALQH| 5742000 | EHe, BR=QZ K90 =2
olZa - | olgZ
ME3A 5,800,000
1)7Z %]
2 O Ak oH(®l) AEYY
=9 1,000,000 | 271¥ 29
P F =TI - | EEH|, BN FH|, 22fH|
S| - | A =D E Ay
ZAAHH| A 1,000,000
)5 H At |
= of A QH(H) MELU Y
LA X 2,500,000 | O XA HALE 7t S U ZEAX|
O| M A S ALY 1,742,000 |O¥A~H TESEME, XHED, XALHU2 &
K| GAt2| ACHALE 1,500,000 |OX|HAtz| HOHALR BEHX|AH|, SSHAL
XA S AR /|3 4f - |OXHESARE {134 2H3H Kbz, dAHH|, AlCH
SXALHH| AA| 5,742,000
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DALAINMLEREHE ALLX|S| 20175 £ Of| AH(QFH

| - = \ L.
<CH[H 3>
T 12 X| 5
AEa=E 20160f| 4+ | 20170]| 4t g4 AEa=E 20160f| 4+ | 20170j 4t g4
3| H| 3,300 2,742 v558 ZAH| 1,700 1,000 v700
X 1,000 4,000 A 3,000 SHAIHH| 3,100 5,742 A2,642
Y Of| B] b
MHo|g2 1,500 0 v1,500 XI7|0| 22 1,000 0 v 1,000
g A 5,800 6,742 A942 5,800 6,742 A942




